2015485 20iIat JIEISE3H

I 200 MI2lZe
2t 210 BAEAASY
B 211 THArITh2 (chol®e)
.32 Ofl el HEAE oAk blms2
= 38,148,136 26,209,001 11,939,135
200 NI2Iz=2] 8,781,380 1,414,706 7,366,674
210 IAEAH 25 8,771,380 1,404,706 7,366,674
211 THAFACHAL 7,272,909 0 7,272,909
211-02 2RMHAANZ 7,272,909 0 7,272,909
[ SRA0IMESLSH | 7,272,909 0 7,272,909
< QHMBE T > 7,272,909 0 7,272,909
O3R20IIHE HAM=2 7,272,909, 000! 7,272,909
212 Alg24 1,158,521 1,011,156 147,365
212-04 MA5TAIRZ 1,013,721 967,356 46,365
[ ACAESEEH ] 1,013,721 967,356 46,365
< MBIETARIA > 1,013,721 967,356 46,365
otzg 437, 7%
0.8 10,936 21+887 & 122 116,402
0.2% 3,7002+87 M 122 3,872
0.d= 5,8222%333 &+ 122 23,264
0.=M 8,403 x 177812 17,847
0.AIA 10,044 %5458 x 122 65,687
0.&t< 6,5412%729%+ 122 57,220
0.Alot 11,4502 %916 &+ 122 125,858
0.4 4,65421%495 M x 122 27,644
ogie= 202,901
0.4+ 78,0572x91 &+ 122 85,238
0.2% 8,3422x 18 %128 100
0. 4= 24, 2652x3pT 122 10,482
0.3A 102, 55521 x45% « 122 55,379
0.AIF 30,64124%26 8+ 122 9,589
0.&t 39,63321%38 %+ 122 18,072
0.41S 17,7182%06 %+ 122 5,528
0.4let 44, 15120+35 8 x 122 18,543
oge= 370,471
0.4y 29,222x3p4 %+ 122 127,641
0.2% 22,8052 x 2%« 122 549
0.d= 24,4022+ 96 T+ 122 28,214
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200 MI2le=¢]
2 210 ZAXAHLl
s 212 AlE24Y (=SR]
Z.a4.8.5 Ofl &boH L & (| AbeH HImE2
0.=M 32,0972 %458« 122 17,332
0. Al 26, 76724 109% 122 35,011
0.&d 24,205%118%x 122 34,401
0. Alo 46, 110R%207 & 122 114,537
0.81S 19,008 24+56 7 * 122 12,786
O=sEs 2,556
0.4 69,0822 x3%x 122 2,486
0. IR 3602% 18122 4
0. 4l0k 5,4902% 18128 65
212-07 &=+ 60,000 40,000 20,000
[ SYMLAILSESIA ] 60,000 40,000 20,000
< SSSLE2ACIAE A > 60,000 0 60,000
O =2t & g2 2382 60,000,0002! 60,000
212-08 JIEIAIEE 84,800 3,800 81,000
[ SYHLAISEESIHA ] 84,800 3,800 81,000
< SoBLE2ASIAE A > 84,800 0 84,800
O QIZIREAE A= 84,800
0 sokeat 14,000,000 14,000
0 SALSLEE 3,300,000 3,300
0 LEXTHOHE 4,500,000 4,500
0 RXNSLs 4,000,000 4,000
0 SASHHE 4,000,000 4,000
0 920t 25,000,000 25,000
0 EHFZ==XE 30,000,0008 30,000
214 At 161,550 213,150 A51,600
214-01 AP T A=) 150,000 201,600 251,600
[ ASUTAIY SEHIIA ] 150,000 201,600 A51,600
< BHZAID > 150,000 201,600 251,600
O d= EOf > (ML) 150,000,000 150,000
214-06 2&32+< 11,550 11,550
[ A=TAIASESH ] 11,550 11,550 0
< MGt AN A > 11,550 11,550 0
OANdzg=z 11,550
0.4H8 70,0002 * 35% 2,450
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Jal

0% re 0

2 200 AlQl==

210 ZHHA2+=L
214 A==

i
1
P
rio

g.-&.8.-5 Ol toH &E SOl AroK Hus2

0.2% 70,000& = 5& 350
0.4= 70,0002 * & 420
0.2AM 70,000& = 8 560
0.A& 70,000 * 21%& 1,470
0.&t4 70,0002 * 40%& 2,800
0.4l0k 70,000& * 40& 2,800
0.818 70,0002 * 10& 700

216 OlAt==g 178,400 180,400 /2,000

216-01 ZBZ0I20IXH42 178,400 180,400 2,000

[ sZASIISELESIA ] 20,000 20,000 0

< SEAH > 20,000 20,000 0
Osg943213 ZII0=2 Olkt=g 20,000,000 20,000

[ AL Mo )25 ] 3,400 3,400 0

< FRIMETIRA > 3,400 3,400 0
O33020Ixt+=e 3,400,000 3,400

[ SSNMLAIHELESA ] 14,000 14,000 0

< SoYSLEZAE A > 14,000 0 14,000
O SEASBZ0=01X== 14,000,000 14,000

[ AHHXZLSESH ] 1,000 3,000 £A2,000

< ZHISAIDE > 1,000 3,000 22,000
O=3EX 2303 0l 1,000,000 1,000

[ EMIE=REIIS2ESLESA ] 140,000 140,000 0

< BHIZAID > 140,000 140,000 0
O330Z20I k=2 140,000,000 140,000

220 SAIEAI2A+= 10,000 10,000 0

224 JIEt==¢ 10,000 10,000 0

22406 12+ 10,000 10,000 0

[ A=S0II2SL3A ] 10,000 10,000 0

< FOIMSTIRAA > 10,000 10,000 0
OE=I= G == 10,000,000 10,000

50 X3 12,099,553 9,266,971 2,832,582

510 =21EX3=S 11,513,5%4 9,046,804 2,466,790

511 208X 3s 11,513,594 9,046,804 2,466,790

511-01 21EX= 3,727,443 2,835,859 891,584
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& 500 BEx=
2 510 I NEX3S
5. 511 3UEX3S (el &)
- Ol toH &E SOl AroK Hus2
[ Z2NESLESI ] 3,601,000 2,711,000 890,000
< MGt AFEA > 3,601,000 2,711,000 890,000
O 38 3,601,000
0 s&0tsdt=& 483,000,000 483,000
0 Sk==2tH AXIAY 2.,618,000,000 2,618,000
0 St=Held 4l 500,000,000 500,000
[ A=200I13EE3H ] 126,443 124,859 1,584
< FRIMESTIRA > 126,443 124,859 1,584
O&8==0d| 126,443,000 126,443
511-02 XI9LHELS|H| 1,650,000 761,000 889,000
[ SSMLAIHEES 1,650,000 300,000 1,350,000
< SYSLE2ACIAE 1,650,000 0 1,650,000
O NSLSHESZA 1,650,000
0 S}MF2AER 1,650,000
o MSgtgsa 900,000,000 900,000
o0 SoABUES 750,000,000 750,000
511-03 JI=2 6,136, 151 5,449,945 686,206
[ =ZHESESH ] 5,804,351 5,118,145 686,206
< EZS{M > 3,065,887 3,109,646 A43,759
OogsZ==H2ell=s 3,065,887
0 =RIXJAr 1,329,103,000 1,329,103
0 =DUXIAY Eot & 13,580,000 13,580
0 SAJ|I=AIE2 1,597 ,804,000 1,597,804
0 4RABSRAAL 125,400,000 125,400
< MBSt AIEA > 2,738,464 2,008,499 729,965
O &de ozt 2,738,464
0 sE0t=ot=+=% 124,200,000 124,200
0 Sl HAXIA 1,107,656, 0008 1,107,656
0 St=Held X 283,530,000 283,530
0 23tk 2¢ 1,223,078,0002 1,223,078
[ EAFHISAXN2AIESE A ] 331,800 331,800 0
< ZHISAIDE > 331,800 331,800 0
OgdAFHIAX 331,800,000 331,800
520 Al - CHIEX3SS 585,959 220,167 365,792
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& 500 BEx=
2 520 Al - EHIEXE3S
g 521 Al - SHIEXZS (S & &)
g.-&.8.-5 Ol toH &E SOl AroK Hus2
521 Al - EHIEZXZ2S 585,959 220,167 365,792
521-01 Al - CHIZX2S 585,959 220,167 365,792
[ =ZNESLESIH ] 41,400 81,000 239,600
< AotE A A > 41,400 81,000 239,600
O INEAY A2 41,400
0 SEF A2 41,400
o sE0t2ota=C&HIAMY 41,400,000 41,400
[ A=20II2SE3A ] 49,559 49,167 392
< FOIMSTIRA > 49,559 49,167 392
O&8==0| 31,611,000 31,611
O2zJ =& 17,948,000 17,948
[ SSNLAIHELESIHA ] 495,000 90,000 405,000
< SYSLE2ACIAE A > 495,000 0 495,000
O THIEXZAIY A2 495,000
0 SMsHER A2t 495,000
o NSt sAALXNTLAY 270,000,000 270,000
0 SABUE=SHHMEIIBAIEE 225 000,000 225,000
700 Ed-USHUSEHH 17,267,203 15,527,324 1,739,879
710 2823 9,585,550 7,762,233 1,823,317
711 Aoz 7,812,223 6,088,906 1,723,317
711-01 =AIAHLHZ2 7,812,223 6,088,906 1,723,317
[ &S ANHSEHSH ] 400,000 200,000 200,000
< Aot=EAE A > 400,000 200,000 200,000
O=MAHLAHZ 400,000,000 400,000
[ 2L ] 70,822 70,822 0
< SE{M > 70,822 70,822 0
O=HAHLHZ 70,822,000 70,822
[ SHASIIZ2SESA ] 1,600,000 1,400,000 200,000
< SS4t > 1,600,000 1,400,000 200,000
OsgAsS)Iz =NAHLNHS 1,600,000, 0002 1,600,000
[ A2 Mo )1 253 ] 480,401 387,084 93,317
< FRIMSTIRA > 480,401 387,084 93,317
Oz=MALN= 480,401,000 480,401
[ SYMLAILSSSIA ] 1,160,000 0 1,160,000
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700 BN SR AN
Z 710 B E
g 711 A0 (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hus2
< SYELEZIAIE A > 1,160,000 0 1,160,000
O dEsd=2 1,160,000, 0002 1,160,000
[ EAFHISX AL SEIIA | 50,000 50,000 0
< BHZAIDt > 50,000 50,000 0
O=HHLHZ 50,000,0002 50,000
[ EXE=REIIS2ESLESA ] 3,981,000 3,981,000 0
< BHZAIDt > 3,981,000 3,981,000 0
Oz=HAHLHZ 3,981,000,000 3,981,000
[ AAUMAIY S35 ] 70,000 0 70,000
< BHIZAID > 70,000 0 70,000
O =AMAHLN= 70,000,000 70,000
713 8tz 1,773,327 1,673,327 100,000
713-01 2IHE X235l 442 1,773,327 1,673,327 100,000
[ sHASIIZ2SESA ] 1,700,000 1,600,000 100,000
< SFAE > 1,700,000 1,600,000 100,000
Osgas)Iz si3sls = 1,700,000, 000! 1,700,000
[ Xt MEors )| Z2SHSIH | 23,327 23,327 0
< FOIMETIRA > 23,327 23,327 0
O3 3= 23,327,000 23,327
[ YEAFHT AT RAISELS|H ] 50,000 50,000 0
< ZBHIZAID > 50,000 50,000 0
O==X siasl= 50,000,0002 50,000
720 LIS HcH 7,681,653 7,765,091 A\83,438
721 8= 7,681,653 7,765,091 A\83,438
721-03 JIEtSI Y 7,681,653 7,765,091 183,433
[ A=SAISSER ] 20,117 200,797 180,680
< ABtE AR A > 20,117 200,797 A180,680
Ogets| N3 20,117
0.4 AH2Y 20,117,000 20,117
[ Z2NESLESI ] 3,219,998 2,382,412 837,586
< B34t > 907,862 547,073 360,789
OLes|HEAZ 907,862
0 S| ZAIE 22| 2Y 874,047,000 874,047
0 ArB5PAAL| 26,775,000 26,775
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& BHUSLHRHN
2t LIS 2H
& &Hel= (el &)
g.-&.8.-5 Ol toH &E SOl AroK Hns2
0 =RIX&AY EIF & DBAIA 7,040,000 7,040
< MGt AFEA > 2,312,136 476,797
O LEANSZ 2,312,136
0 =ZE0t=0t==SBHIAY 41,400,000 41,400
0 Sk==2tH AXIAY 847,344,000 847,344
0 St=Held 4l 216,470,000 216,470
0 3otk 2¢ 1,206,922,0002 1,206,922
o220II2EE3AH ] 388,974 600
FOIMETAA > 388,974 600
OgersH M3 (E3=0l) 386,814,000 386,814
Ogets|H MUS(RIIAHA2ZX =) 2,160,000 2,160
SHASIIZSELESH ] 1,000,000 A 1,500,000
SEAD > 1,000,000 A 1,500,000
OsgasJiz Leteli dY=s 1,000,000, 000 1,000,000
SHNLAIESESIH ] 2,098,014 1,647,256
SoBLE2e A A > 2,098,014 2,098,014
O LeiEINd= 2,098,014
HESsUSAABTNTLAIL (XNSEX) 630,000,000 630,000
0 SYELE=LMEIIBAEZLAIS (XISEX)
525,000,000 525,000
0 LEIHEL = 943,014,000 943,014
AACT ELEES| A ] 65,000 21,206,200
AHSAID > 65,000 1,206,200
OgEsH M= 65,000,000 65,000
SAIYRL)IS2ESLI ] 589,550 18,000
RS AID > 589,550 18,000
oMz 589,550
0 SAIEEHII2 2=2(LEEH &Y 589,550,000 589,550
SR2AOHIESESH ] 300,000 300,000
QtMSHAE I} > 300,000 300,000
Ogesi M= 300,000,000 300,000
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